
 

 

Tous les nombres des alvéoles    

 

37 

38 

3d 15 u 

 

47 

8u 4d 

 3u 2d 

 1d 20u 

 

35u 1d 

 

3d 5u 

 

10+5+10+10 

 3d 2u 

 

3d 14 u 

 

24u 1d 

 

48 

10+10+10+1 

 

10+10+10+7 

 

1d 34 u 

 

3d 6u 

 1u 3d 

 

18u 2d 

 

6d 1u 

 

4d 7u 

 5d 1u 

 

30 + 3 

 

5d 3u 

1u 

 
10+10+10+6 

 

2d 12u 

u 

 

57 

 

8 + 60 

 

50 + 7 

 

2u 4d 

 

6u 4d 

 20 

30 + 20 

 

34 

 

1d 6u 

 

68 

1d 54u 

1u 

 

= 1 

= 10 

 

d : dizaine 

u : unité 
vont par paires, mais il reste un intrus. Trouve-le. 

https://view.genial.ly/5e7de3af50a0310d8c1c4c7a/game-defi-2-ce-3

